(b) /n ¢ Qif nis not a perfect square (HINT: write n = k*r, where r does not contain any square

factor),
4 . A AV NP 11 _ nT

1113 n 1s aol pevfect square, then ot least
one of ik Poctors is not a square. So we

Con write n=£r where 1 does not ontain

any Square factorg,

Now, we oucaue by wniradiCken . Suppee that
nis not o perpect sguare and MEQ,

Then e can  write \m=PIq) F,ﬁeN,
where pand 9 have no common facters
(p]q is in its simples+ ﬁorm)o

Then n= P’/grz= Kr  or) equivaleatly

r=p2 . Bur Uil is imposible because
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